MOUNTING INSTRUCTIONS

YV od 7/ 7

Racing Screers

WINDSHIELD ADAPTABLE TO
TRIUMPH Ref.: 5658
SPEED TRIPLE/R“11-  STREET TRIPLE/R "13-

Screen 1

/70
(s (o=
A ye AN
WA
& .

‘Q/Q%g; \ E Right/left metal support 1
@%’@i o ”f/ 3 M8x50 hexagonal screw 2
W ;:; («@ 4 M6x25 DIN 7991 Allen screw 4
\\\\. //‘2;;,% = 5 M6 nut incorporated well nut 4
\ 4 6 @20 plastic washer 4

” 7 M6x15 1SO 7380 Allen screw 2

? 8 Special M6 nut 2

9 @8 silicone delimiter 1

10 DIN 7991 Screw cap 4

Puig puts everything within reach. Check out the collection of motorcycle windshields & fairings we offer.


https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html



